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e Please check that this question paper contains 24 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 23 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

67/1

(i)  This question paper contains two parts A and B.
(it)  Part A is compulsory for all.

(iii) Part B has two options : Option — I Analysis of Financial Statements and Option — I
Computerized Accounting.

(iv) Attempt only one option of Part B.
(v)  All parts of a question should be attempted at one place.

T —%h
PART - A
(STSrert wHt e % fore gis)

(Accounting for Partnership Firms and Companies)

fom AT T HTRICR § TUT 4 ¢ 1 % STIHIG H ATH I Seall FL @ & | IR Yol ShA:
% 90,000 T % 70,000 &t | A H 1/3 9T o foTT I8 Sciieh bl BH H FolwT feaT | Tefieh
310 St o T T 1,00,000 AR | HH T TATRT 6 M0HT R | 1

Vinay and Naman are partners sharing profit in the ratio of 4:1. Their capitals were
% 90,000 and ¥ 70,000 respectively. They admitted Prateek for 1/3 share in the profits.
Prateek brought I 1,00,000 as his capital. Calculate the value of firm’s goodwill.

T |IHCR % 3731 I Y ATRER fohd 110 & SR § 7 1

In which ratio do the remaining partners acquire the share of the deceased partner ?

qrerer w1 o foge o gy feufa-foawor & grafa gar 8 fegm 7o grger & w0 & fau
U= gfafy i | 1

Give the journal entry for the treatment of partner’s loan appearing on the asset side of
the Balance Sheet, on dissolution of a partnership firm.
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4. 37O, I TUT 3T, FHER & TAT AT YT I b1 5 : 3 : 2 o UM H &7ed & | 3T A
JTTHTI TV TohaT 3R IFeh 3797 1 3THA QAT A = 5 : 3 o I H o foram | 370 qe
Ife 1 JTRIATH ITHTT T hITIT | 1

Aman, Yatin and Uma were partners and were sharing profits and losses in the ratio of
5 : 3 : 2. Uma retired and her share was taken over by Aman and Yatin 5 : 3 in ratio.

Calculate the gaining ratio of Aman and Yatin.

5. o HIIIER % FIe] @I o 19 98 sht 3TN fewms s areft <) we @i | 1

Give two items which may appear on the debit side of a Partner’s Current Account.

6. 319 o fSh frte @ s st @ 2 1

What is meant by ‘Private Placement of Shares’ ?

7. 3ATHd U i TTER @ qUT AT -BT SUs-SUer Sicd & | BH o o9l H s{el 379 &
foTe 3= TR 1 BH T Th ATHCR TET | 39 399 o (o0 BH 1 ST b1 Jeaieh
SR o = 9T o v o STTET U hEAT T | 3

TR o T T %A o1 feafa — foaror fr geem @ o -

e Tf¥r () ol | i (R)
ECIE R 75,000
I 90,000 BT 15,000
FIfdd  — 50,000 | 1,40,000 | & 30,000
LoD 20,000 | faferer eter 20,000
ERY 25,000 | Tehe 50,000
fafae eFer 5,000

1,90,000 1,90,000

T <hl AHT €T 12% Yfdes & | fUsel =1 a9 sl ®H T 3MEd a9 T 30,000
o7 | TATTe § G oh 3131 bl TUMT HIfT |
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to be valued at four years’ purchase of super profits.

Amit and Kartik are partners sharing profits and losses equally. They decided to admit
Saurabh for an equal share in the profits. For this purpose the goodwill of the firm was

The Balance Sheet of the firm on Saurabh’s admission was as follows :

Liabilities Amount(3) Assets Amount(3)
Capitals : Machinery 75,000
Amit 90,000 Furniture 15,000
Kartik 50,000 1,40,000 | Stock 30,000
Reserve 20,000 | Sundry Debtors 20,000
Loan 25,000 | Cash 50,000
Sundry Creditors 5,000

1,90,000 1,90,000

TIH 1T W 32

sfma=w 33

3791 T BT ST T b | HTAT o7 -
AEEAW — %3
FEAW — 32

four years was T 30,000. Calculate Saurabh’s share of goodwill.

The normal rate of return is 12% per annum. Average profit of the firm for the last

Fafmior feafies = 3 10 TR % 4,00,000 TEAT 370 Bl FH-Yod R it fopar | wfa

ot qui &9 @ s1frea gam qen |yt sTEicent i qui 37T T 3TTeed L feam ma | |t
AT HIT off T8 | 6,000 3TN o Teh YT ATET =, TH AT & ST, JAfd Ir=-T i
T o e | 3 3, ek 918 700 3791 ¥ < fafer W wem = w1 A el TR |
9 1 AT AT o Y LT AT BT A B QT | SATE TR 3hi T Toh HFT
TG J TS 1 @R Fel L [T | 39 99aTd 39eh g1 FfaRaa Sfefsat
el e & T | 37 ey w1 qu i |
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(Fafmior fafly. =1 wee)
fafer Teraror IEEE | W AN ) | S AR R)
U1 319 9T ATSHT @Il Im 8,00,000
.............................. 8,00,000
(4,00,000 3791 W % 2 W 3791 yorm
RIEEIRUEIK-CY)
S @ || |
.................................. g
FOA FM IS ARG | || e
(e )
HAT Y GEA W SARH AR @A AH | [
e KR RG] A A N IOPOR
(4,00,000 37T W T 3 Ufd 379 Hl XA
EIEERICEIEC))
S @ | ||

Navnirman Ltd. issued 4,00,000 equity shares of ¥ 10 each at par. The amount per
share was payable as follows :

% 3 on application; X 2 on allotment; ¥ 2 on first call and ¥ 3 on final call. The issue
was fully subscribed and the shares were allotted fully to all the applicants. All calls
were made. Mahi, a shareholder holding 6,000 shares paid the final call money along
with the first call. Shrey holding 700 shares did not pay the first call on the due date.
Shrey paid the first call along with the final call. The accountant of the company had
correctly passed the entries till receipt of allotment money. After that the following

entries were left incomplete by him. Complete these entries.

5
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Journal of Navnirman Ltd.

Date Particulars F Dr. Cr.
Amount 3) | Amount (%)
Equity Share first call A/c. Dr. 8,00,000
TO v 8,00,000

(Being first call due on 4,00,000 shares @ 2
per share)

Equity Share second and final call A/c. Dr.
To Equity Share Capital A/c

(Being final call due on 4,00,000 shares @ X 3
per share)

Bank A/c. Dr.

Dr.

To Equity Share second and final call A/c.

67/1

Siar faafiies <t 31fereRd deft T 10 T 9 2,00,000 HFAT 3721 & | SHFT 9 1,00,000 370
% SAMMGH o ToTT AT I MGG fohal | 97,000 37 & fT¢ 3T1Ee I g | TR
PTaH 5 TR & T A1 - e W 2 Ui 3791, 3T&eH au1 99w Td 3ifaq Jram

Teeh W T 4 T 37 | Teb FANERT S 600 T30 T € T, HATee NI ¢ § 3% BT |
3Tk 3T ST &L0T ShL T TRIT | Pt < 9o e ST It g Jrf |

ST TR, 2013 T STTET 111 9 TTIR 379 YSi i HraT o et —faawo o

TMET | Al o AIE Wi daR HIRT |
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Janta Ltd. had an authorized capital of 2,00,000 equity shares of I 10 each. The

company offered to the public for subscription 1,00,000 shares. Applications were
received for 97,000 shares. The amount was payable as follows on application was
% 2 per share, ¥ 4 was payable each on allotment and first and final call. A shareholder
holding 600 shares failed to pay the allotment money. His shares were forfeited. The

company did not make the first and final call.

Present the share capital in the Balance Sheet of the company as per Schedule III of

the Companies Act, 2013. Also prepare Notes to accounts.

IS, ST AT ST ATPER A qAT2 2 2 ¢ 1 % FTITd H AT -7TH dfed & | 1 JeTTE, 2017
1 591 61 g B 7T | TG Gk Ui 9 31 W W1 & i ST & 12016 -17 99 o fog
forsra &1 T 2 5,00,000 off TT 1 3T & 30 SH, 2017 @6 T 1,40,000 2 | foreget i ast
o SR AT ST Tarshar st 10% oft | <k 21T ST HIHT STAUTIHI ITRT Soheital s AT, S
o fafyre =0 @ T o1, =g fofa foram mn o o= < @t <1 faem @ & fou oy 6t
TOT foshal 6 20% W <l STEAT |

(%) 2R st 7eg bl fafy deh vl | Ik W1 shl 0T ShIfTT qeT 3He T e
st ey i |

(@) I o B f0 Joot T TehTsT STeT T &, 38ehT off oo shif |

Ajay, Bhawna and Shreya were partners sharing profits in the ratio 2:2:1. On July 1,
2017 Shreya died. The books of accounts are closed on March 31 every year. Sales for
the year 2016-17 amounted to ¥ 5,00,000 and that from 1% April to 30" June 2017
were X 1,40,000. The rate of profit during the past three years had been 10% on sales.
Since Shreya’s legal representative was her only son, who is specially abled, it was
decided that the profit for the purpose of settling Shreya’s account is to be calculated

as 20% on sales.

(a) Calculate Shreya’s share of profits till the date of her death and pass necessary a

journal entry for the same.

(b) Also, state the value highlighted in the above para.

7
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TS e ESiid Teh BH | dreiel & | 3 el i@ 8§ e o7 fob ol &1 seam
= yeRr | e Stram -

Tgt % 20,000 TSIE ! TUT I 4 : 1 3 I § | 31 W=, 2017 1 T §C TN & fo1Q
AT T 60,000 o, TER1 SamT ATEGRT o WeT L TCAT 73T | 01-04-2016 T 3TehT Ysit
off, TSfia - T 90,000 T HSfE T 80,000 | 6% SR X | Usfl T AT 1 T fohan
ST T | AT -7 FHRISH @1 G id 99 ISit 0 ST ) oR T 4T |

3G foTU 3TTargares e T HifST | 3797 1 &1 T8 9 § €3y |

Rajiv and Sanjeev were partners in a firm. Their partnership deed provided that the
profits shall be divided as follows :

First ¥ 20,000 to Rajeev and the balance in the ratio of 4 : 1. The profits for the year
ended 31% March, 2017 were T 60,000 which had been distributed among the partners.
On 1-4-2016 their capitals were Rajeev I 90,000 and Sanjeev ¥ 80,000. Interest on
capital was to be provided @ 6% p.a. While preparing the profit and loss appropriation
interest on capital was omitted.

Pass necessary rectifying entry for the same. Show your workings clearly.

A forfies ws fre Tee S 2 | 3T ffi |riees SaeTiical % Fated & se
SR At & fore ufy fam fmior s@ w0 folr fon | s 3 wam fafiees &
% 10,00,000 =t TEafe=i a1 3 1,80,000 s AT BT AW T 7,60,000 T foham | s
e & Ut FueH &g i fafiree = sham faafiee @ 98 § 3 100 S % 9% 0TI
T 5% &g W R |

T el o fore Sia forfire <t qedent H 3traweres Tstm=n Tfafsat Hifs |
4 TS GRT &I H W@ TR §od hl gga o it |

Venus Ltd., is a real estate company. To discharge its corporate Social Responsibility,
it decided to construct a night shelter for the homeless. The company took over assets
of ¥ 10,00,000 and liabilities of ¥ 1,80,000 of Cayns Ltd. for ¥ 7,60,000. Venus Ltd..
issued 9% Debentures of ¥ 100 each at a discount of 5% in full satisfaction of the

purchase consideration in favour of Cayns Ltd.

Pass necessary journal entries in the books of Venus Ltd. for the above transactions.
Also identify the value observed by Venus Ltd.
8
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@ fafiee 7 7 6,00,000 3 8% FROTHAT i 6% o T T foham | SROTOET <61 M IR~
THH ITfer fehvdl H a1 T | SKUTHH] o fRTHA % fotu, srmeves U= wfafsat Hifs
AT =T ST T “SRUTIS TR ST @A IR HIT | 39 1 bl TIF €9 J g201sT |

Boots Ltd. issued I 6,00,000, 8% Debentures at a discount of 6%. The debentures
were redeemable in four equal annual instalments. Pass necessary journal entries for

issue of debentures and prepare ‘Discount on issue of debentures Account’ for four

years. Show your workings clearly.

Frfca a2 ToTy TTEgR & qUT 2 ¢ 3 % I1UTd ® T -g1H STed 9 | 31 W, 2017 i 3
ferf—fereor Tt wepm o

TFand TR R) | st T })
TER 80,000 | S H Tehg 20,000
S rferferepd 50,000 | TTER 55.000
SR HC 77,000 | T — | 07 o U F@E™ 2,000 | 53,000
TOTST ST K0T 28,000 | wieh 78,000
o Tea-sgd ®y 15,000 | frast 89,000
qoft - LEE| 2,50,000
fifsn 1,50,000 IESICRCIGI] 10,000
Mo 1,00,000 | 2,50,000

5,00,000 5,00,000

Iuterd feafer i o 1 ferered g1 R | wufaat s < TS qem CAnatt 1 WA e yeRR

3o -

(%) T 6,000 % STERI shT TN gard &1 78 |

(@) i 3199 9TS <1 KT YT i o foT Tgwd 81 T |
(1) % 10,000  Teh THER 3l 3Heh WA o qU1 M 2q 2 3,000 1 YA foham T |
(") 9 =l % 1,80,000 W et s gz i aun Hramdfierat st siiee 3 8,000 T |
(€) TOIT 3 TFeh T Th | T 4,000 (SN EAhIT eI T 20% HH oM7) § o foram | =

BT Tk IY TIHERI ol 3ok W1 o U1 (IS 2 < feam i |
(=) & € % 9,000 9 S T |
(®) g =F T 17,000 A 3R ITHT YA 7019 = foharm |
T WA, HISIERT o I3t WA a7 s @raT =R HIfT |
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Girija and Ganesh were partners in a firm sharing, profits and losses in the ratio of
2 : 3. 0n 31% March, 2017 their Balance Sheet was as follows :

Liabilities Amount | Assets Amount
®) (J)
Creditors 80,000 Cash at Bank 20,000
Bank Overdraft 50,000 Debtors 55,000
Girija’s Brother’s loan 77,000 Less: Provision for
Ganesh’s loan 28,000 doubtful debts 2,000 53,000
Investment Fluctuation Fund 15,000 Stock 78,000
Capitals : Investments 89,000
Girjja 1,50,000 Buildings 2,50,000
Ganesh 1,00,000 2,50,000 | Profit and Loss A/c. 10,000
5,00,000 5,00,000

On the above date the firm was dissolved. The assets were realized and the liabilities

were paid off as follows :

(a) Debtors of ¥ 6,000 were proved bad.

(b) Girija agreed to pay off her brother’s Loan.

(¢)  One of the creditors for ¥ 10,000 was paid only ¥ 3,000 in full settlement of his

account.

(d) Buildings were auctioned for ¥ 1,80,000 and the auctioneer’s commission

amounted to I 8,000.

(e) Ganesh took over part of stock at ¥ 4,000 (being 20% less than the book value).

Balance of the Stock was handed over to the remaining creditors in full

settlement of their account.

() Investments realized I 9,000 less.

(g) Realisation expenses amounted to X 17,000 and were paid by Ganesh.

Prepare Realisation Account, Partners’ Capital Accounts and Bank Account.

10
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u1ef, T T SIS Wi e ST aTeft Ush B8 B |ISGR R | 95 2 3 ¢ 2 % 31U B o1
T HCIT A W & | 1 31, 2017 | I8 ATl AIH-MA I 2 ¢ 5 : 3 % I § Sied
=1 Tty form | 3aemt fRufa-faawor ema-g1ft @ra & 4,000 1 9 99, T 36,000
T F= 99 q7 % 12,000 T HHAR] &gl S= AT G201 @I o7 | I8 TeAfd g3 foh —

(i) wH i @l 1 geared 3 76,000 feham S |

(ii) T 1 (3 40,000 TEIHIT TooT) 8% | YoIgT feram STU |

(i) % 900  TGR el &l I |

(iv) e &fagfd 1 T 20,000 T gET o7 |

(v) Frasm ot (% 38,000 TEIRIT Goo1) T 40,000 T GHTRA feham T |

®H Jfd Y Th JGIHH I BN L' I TH ¢ o TIT STRHERS Gt Hiial 1 i
A 2 | G T Ted T TGV W 1 SIH § WA Y HH - I i form ok o 2017-18 9
AN b Ifd I A1 BT 10%, B ST | ARG foham ST 3 38T 3TN
T& &9 ¥ gt - - franat % fore g |

(%) ITUe o [T ST USTHHT ST 18T HIfT |

(@) o foredl g1 ot o1 oft Seorm it o e Swie feafa & yehrer s mn # |

Parth, Raman and Zaisha are partners in a firm manufacturing furniture. They have
been sharing profits and losses in the ratio of 5 : 3 : 2. From 1% April, 2017 they
decided to share future profits and losses in the ratio of 2 : 5 : 3. Their Balance Sheet
showed a debit balance of I 4,000 in Profit & Loss Account; balance of ¥ 36,000 in
General Reserve and a Balance of ¥ 12,000 in Workmen’s Compensation Reserve. It
was agreed that —

(1) The goodwill of the firm be valued at ¥ 76,000.

(i1)) The Stock (book value of ¥ 40,000) was to be depreciated by 8%.

(ii1) Creditors amounting to ¥ 900 were not likely to be claimed.

(iv) Claim on account of Workmen’s Compensation amounted to < 20,000.
(v) Investments (book value T 38,000) were revalued at I 40,000.

The firm manufactures comfortable rocking chairs for donating to ‘Kareforyou’ an Old
Age Home every year. Taking cognizance of the rising pollution levels in the country,
the firm has decided to transfer 10% of the profits every year to ‘Green Fund’
primarily used for environment friendly activities starting from the year 2017-18.

(a) Pass necessary Journal entries for the above.

(b) Also state any two values highlighted in the above case.
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Ted fefieg 9T 10 I % 10,00,000 THaT 3790 o1 FATTHd S o foIu 3rmaed b
oRU. | TToRT Ta 1 TehR & ¢ o -
TS Td 3ATeeH W : T 4 9 379 (3 1 Hiftem afEa)
T T W : T 4 Tfq 3T
gt wa Afam = w : T 3 fd e

15,00,000 3731 % foTu 3Teed wTed gT qm Tt TEEehl Wi SAUTIGS IR W
JTee oY e R | iR SATee TN T THTES AT 9T <7 T | S T | U
Y, S8 6,000 3190 & forw 3treaes fopan o, gem qen fgdter wa 3ifaw gm=m &
AT & TR | 35k 79T o 201 KT fotarm TR | &or fepu e 37ii & & 90 % 37T <l T 8
i 3791 qut Yeat g4 Feifira s feam mmam |

TS THCAT oh TTT HFoT 3hi TEaehl | 3TTE9eh TS TSl HifT |

JAYAT

T fafide 9 3 10 &% % 5,00,000 FHAT 3901 ! FHed W FAifHa w =g e
i fopu | Sl 3791 T o1 SFTa 37 ehR | AT o -

3EET W — 3 1 9 37
3TEEA W — % 2 Wi 37

TYH TS W - ¥ 3 3fd 31
Edl T HAf~H AT T — A

8,00,000 371 o TT 37TeEH I BT | 1,00,000 37211 36 JTeGHT ol T8 T fam =
TUT IY ITAGh] hl TATAh IR T 3T 1 & HL T 1 | e | I
ferfeer TS 61 THREISH 3meed W g TR § X foram | wft e | <t g |
5,000 3737 % Ush N TMNeh o IATee TN qAT AT T 6T P T8l Foham | Toh
SIS Hied, & 7,000 3901 3 feTu 3tmaie fomam o, wem aen gadl wd i< It
T WA T | 6 @1 | gEll a1 3~ ATe1 o Tg=Td, 3Rk AT HIgH o 01 I
T L foram T | g fopw TR S7e § & 8000 37T 1 T 12 Wi 379 qut Wed g friea
o feam e | ga:fifia o7en o oTemeh o &1 fopw T ot 3t |ffera & |

T feAfireg sl qedent H ST e o foTC STk UstraT= Sfafsi Hif |
12
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Manvet Ltd. invited applications for issuing 10,00,000 equity shares of I 10 each

payable as follows :

On application and allotment X 4 per share (including premium < 1)
On first call X 4 per share,

On second and final call X 3 per share.

Applications for 15,00,000 shares were received and pro-rata allotment was made to
all the applicants. Excess application money was adjusted on the sums due on calls. A
shareholder who had applied for 6,000 shares did not pay the first, and the second and
final call. His shares were forfeited. 90% of the forfeited shares were reissued at I 8

per share fully paid up.
Pass necessary journal entries for the above transactions in the books of the company.
OR

X Ltd. invited applications for issuing 5,00,000 equity shares of I 10 each at par. The

amount per share was payable as follows :
On Application X 1 per share

On Allotment X 2 per share

On First call ¥ 3 per share

On Second and Final call — Balance.

Applications for 8,00,000 shares were received. Applications for 1,00,000 shares
were rejected and pro-rata allotment was made to the remaining applicants. Excess
money received with applications was adjusted towards sums due on allotment. All
calls were made. Ashok a shareholder holding 5000 shares failed to pay the allotment
and the call money. Mohan, a shareholder who had applied for 7000 shares, failed to
pay the first and second and final call. Shares of Ashok and Mohan were forfeited after
the second and final call. Of the forfeited shares 8000 shares were re-issued at I 12 per

share fully paid up. The re-issued shares included all the forfeited shares of Ashok.
Pass necessary journal entries for the above transactions in the books of X Ltd.

13
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31 974, 2017 w1 31efR qen feen o1 ferfa-faamon, s 3 ¢ 1% 3rguma ® o |fed 9, =

ThTH AT ; 8
31 9T, 2017 sl AR e fesar w1 feufa-faewor
- Tfr ot Tfr
®) ®
TER 2,20,000 | s | Uehg 1,40,000
HHR! Wiasy iy iy 1,00,000 | Ter 6,50,000
TrereT Siga-ged Aty 1,00,000 | =T : o SROn
AT He 1,20,000 % fTU gEE 50,000 | 6,00,000
ESiE =i 3,00,000
i 6,00,000 To7ereT (STSTR 73 % 4,40,000) | 5,00,000
fesar:  4.00.000 | 10,00,000
15,40,000 15,40,000
1 39, 2017 T I8 1/5 9T o foTe forR bt Ueh 11 TTSIER T |
() TR nfa fiftrm & 1o wm 6 foe 7 80,000 &R |
(@) T S AR T 20,000 314k foram T |
(1) T <R @bt < Tl 2 5,000 oft, 72 f8 gad /0 % ¥4 § safetiad s fean
TR T, | Ut fUeH =g % 4,000 T AT TR |
(") T 6,000 Jf A8 h1 X & < 7Y 1 A 37eT AT |
(T) TowR 75 wH <l e YSit <6 1/5 W o SIS Goft ARAT |
TR T, |ISIERT & Yoft @rd qen gifea wi ot feufa- oo dam hife |
e
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TS, T AT TferdT HTHER & AT ShAST: 50%, 30% & 20% AT bl seam id & | 31
T, 2016, 1 3T e —feremor f Jepm ot

31 |T=, 2016 ST HISAT, AT QAT AferaT ot ferfer—fersmor

Tga T R) | gt Tty ])
FER 1,40,000 | wrrft grafaat 8,90,000
= G 1,00,000 | ferer 2,00,000
St - s 1,30,000
S 6,00,000 GTGR 4,00,000
q=T5,00,000 oS — oA UM oh [o1C
Jfadr 4.00,000 | 15,00,000 | STEEH 30,000 3,70,000

EE? 1,50,000
17,40,000 17,40,000

ST faf 1 I = Taehrer Tgur foharm qerm Wi U Afedr 5 1= vt W % 1 =
T 1 fAur fora

(%) WH h! BTN I TeaThA T 60,000 TR 72T T BTN H H1SAT o HFT H1 GHRISH
®H ! T TG dTct HISIERT 3 Ysit @l H ot w1 i for |

(@) IR &fagfd I T 4,000 3T Th &1 T |

() fareT =T geeR 3 2,13,000 foam R |

(F) TRl FeafaEt W 10% JeasTE T T |

() 1T I T 20,000 T YTAH Teh sieh FTH GRT TR TRIT AAT Y HT TAHTROT 3Hh
R/ @I § L g mn; freht YJram € suek anfies fohedi § 10% i =Imet &
Y HEATE |
THCATR @TdT, FTHGRI  Ust @Td G 3T $TTaH qeh IS 1 K0T WIAT IR
HIT |
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On 31% March 2017, the Balance Sheet of Abhir and Divya, who were sharing profits

in the ratio of 3 : 1 was as follows :

Balance Sheet of Abhir and Divya as on 31% March 2017

Amount Amount
Liabilities Assets
(] ()
Creditors 2,20,000 Cash at Bank 1,40,000
Employees’ Provident Fund 1,00,000 Debtors 6,50,000
Investment Fluctuation Fund | 1,00,000 Less Provision
General Reserve 1,20,000 for bad debts —50.000 | 6,00,000
Capitals : Stock 3,00,000
Abhir : 6,00,000 Investments (market value | 5,00,000
Divya:  4,00,000 10,00,000 ¥4,40,000)
15,40,000 15,40,000

They decided to admit Vibhor on April 1, 2017 for 1/5" share.

(a) Vibhor shall bring ¥ 80,000 as his share of goodwill premium.

(b)

Stock was overvalued by ¥ 20,000.

(c) A debtors whose dues of ¥ 5,000 were written off as bad debts, paid ¥ 4,000 in

full settlement.

(d)

Two months salary @ % 6,000 per month was outstanding.

(e) Vibhor was to bring in Capital to the extent of 1/5™ of the total capital of the new

firm.

Prepare Revaluation A/c, Partners’ Capital A/c and the Balance Sheet of the

reconstituted firm.

OR
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Kavya, Manya and Navita were partners sharing profits as 50%, 30% and 20%

respectively. On march 31, 2016, their Balance Sheet stood as follows :

Balance Sheet of Kavya, Manya and Navita as at March 31, 2016.

Amount Amount
Liabilities Assets
(] (]
Creditors 1,40,000 | Fixed Assets 8,90,000
General Reserve 1,00,000 | Investments 2,00,000
Capitals : Stock 1,30,000
Kavya 6,00,000 Debtors 4,00,000
Manya 5,00,000 Less — Provision for
Navita 4.00,000 | 15,00,000 bad debts __ 30,000 3,70,000
Bank 1,50,000
17,40,000 17,40,000

On the above date, Kavya retired and Manya and Navita agreed to continue the

business on the following terms :

(a)

(b)
(c)
(d)
(e)

Firm’s goodwill was valued at ¥ 60,000 and it was decided to adjust Kavya’s

share of goodwill in the capital accounts of continuing partners.

There was a claim for workmen’s compensation to the extent of % 4,000.
Investments were revalued at 3 2,13,000.

Fixed Assets were to be depreciated by 10%.

Kavya was to be paid ¥ 20,000 through a bank draft and the balance was
transferred to her loan account which will be paid in two equal annual

instalments together with interest @ 10% p.a.

Prepare Revaluation A/c, Partner’s Capital accounts and Kavya’s Loan Account

till it is finally paid.
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-9
foehed — 1
(fercirar feraront =1 fergeteor)

PART -B
OPTION -1

Analysis of Financial Statements

18. Uk T g “Teu 71 =wu1 Ua AW’ 1 Uehe TaTE Torawor sHTd T8y ford Tehr <kl Tifdferter
T ST 7 1

‘Loans and advances granted’ by a company will be considered, as which type of

activity while preparing Cash Flow Statement.

19. Tehe Yo Toemur s 5 TTfieh 383 1 IJooid hITT | 1

State the primary objective of preparing the Cash Flow Statement.

20. () et rfufaem, 2013 S 3R 111 % STHER = 9ei 1 foha g -sfidesi vd 3u-
ISRt o AT ST ST ? 4

() U T i & foe ey
(i) A0m =
(@) fareh ferort & freerwor i e 31 dhmrsti #1 Seehg T |

(a) Under which major headings and sub-heading will the following items be shown
in the Balance Sheet of a company as per Schedule III of Companies Act, 2013 ?
(1)  Provision for employee benefits.

(i1)) Calls in advance.

(b) State any two limitations of ‘Analysis of Financial Statements’.
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(a)

(b)
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Teh T TATTA W 25% Fehel AT ATSd Hidl 8 | 31 W, 2017 ! U 814 o1
T < TTT 391 Tha W % 5,00,000 T | HFAHT 3hi FHAT 3791 G5t T 10,00,000;
TE TE IR T 2,00,000; SRR KO T 3,00,000 G = gt
% 10,00,000 i |

HTOT o HRIEfeT Yoft STrert STuTa” 6 Mo HIf |
T fafie w1 =aTe wa X % TvETq g o 3 1,00,000 o7 | $HEHT @Te] TRt
% 4,00,000; =TS TR T 2,00,000; TR FRafe™l 3 6,00,000 TAT 10% Ereehreti
3R/ 3 4,00,000 A | BT 20% At |

arg fafiee & few  yemer i mEr hif |

A company earns Gross profit of 25% on cost. For the year ended 31% March,
2017 its Gross Profit was X 5,00,000; Equity Share Capital of the company was
% 10,00,000; Reserves and Surplus T 2,00,000; Long Term Loan X 3,00,000 and
Non Current Assets were 3 10,00,000.

Compute the ‘“Working capital turnover ratio’ of the company.

Y Ltd’s profits after interest and tax was ¥ 1,00,000. Its Current Assets were
% 4,00,000; Current Liabilities ¥ 2,00,000; Fixed Assets ¥ 6,00,000 and 10%
Long term debt ¥ 4,00,000. The rate of tax was 20%.

Calculate ‘Return on Investment’ of Y Ltd.

22. = g @ gerTersh e -1 T qum hifr -

67/1

oo 3196 2017 319 2016
EELNERE IR < 24,00,000 % 18,00,000
I A (T AT %) 15% 25%
=Y (T 3T % ) 60% 50%
H L 40% 40%

From the following information, prepare a Comparative Statement of Profit and Loss :

Particulars 31t March, 2017 | 315t March, 2016

Revenue from operations 3 24,00,000 < 18,00,000
Other incomes (% of revenue from operations) 15% 25%
Expenses (% of revenue from operations) 60% 50%
Tax rate 40% 40%
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31 91, 2017 sl Bareht fetfires w1 ferfa—feamor fom yer @ o

At fetfiree
31 9 2017 s feafa-foawor
g A, | 314, 2017 | 31 9, 2016
(9] (9]
[ HHdT T eIy :
1. e ffemT
(37) 371 gt 3,00,000 1,00,000
(a1) S T s { 25,000 1,20,000
2. I ¢IATE
ARPEIRIE R 2 80,000 60,000
3. 9T ¢IATe
(37) ST ¢ER 6,000 20,000
(3 T TTeTH 3 68,000 70,000
Rl 4,79,000 3,70,000
1. giceeafo=t
1. 3T gt
ol iR 4 3,36,000 1,92,000
2. a1 aieEE Rt
(3) Eieh (HTeTE=N) 67,000 60,000
(9) AR I 51,000 65,000
() Tehg TUT Ushs dc™ 25,000 49,000
GEREICEIEERe - 4,000
Rl 4,79,000 3,70,000
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@l & ™
e T 319, 2017 | 31 9, 2016
9. ® (9]
1. | 999 ug s
(TR — emv- g1 feraor =67 9w) 25,000 1,20,000
25,000 1,20,000
2. | Sreiepreta T
10% SrefehTefi= =0T 80,000 60,000
80,000 60,000
3. | TR T
E2RICRIE] 68,000 70,000
68,000 70,000
4. | 7t wigeatat
i 3,84,000 2,15,000
T (Ffad) s (48,000) (23,000)
3,36,000 1,92,000
ferferd g2

(i)  3fafte B 1 A1, 2016 i form T |
(i) a9 T 53,000 L BT YPTAH Fea T |
Uehg YT feremur I HifsT |
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Following is the Balance Sheet of Mevanca Limited as at 31% March, 2017

Mevanca Ltd.

Balance Sheet as at 315t March, 2017

Particulars Note 31 31t
No. | March, | March,
2017 2016
() ()
I Equity and Liabilities
1. Shareholder’s Funds
(a) Share Capital 3,00,000 | 1,00,000
(b) Reserves and Surplus 1 25,000 | 1,20,000
2. Non-Current Liabilities
Long-term Borrowings 2 80,000 | 60,000
3. Current Liabilities
(a) Trade Payables 6,000 | 20,000
(b)  Short-term Provisions 3 68,000 | 70,000
Total : 4,79,000 | 3,70,000
II.  Assets
1. Non-Current Assets
Fixed Assets 4 |3,36,000 | 1,92,000
2. Current Assets
(a) Inventories 67,000 | 60,000
(b) Trade Receivables 51,000 | 65,000
(c) Cash and Cash Equivalents 25,000 | 49,000
(d)  Other Current Assets — 4,000
Total : 4,79,000 | 3,70,000
22
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Notes to Accounts

Particulars 31 March, 31 March,
2017 ®) 2016 )
1. Reserves and Surplus
Surplus i.e., Balance in Statement of
Profit & Loss 25,000 1,20,000
25,000 1,20,000
2. Long-term Borrowings
10% Long term Loan 80,000 60,000
80,000 60,000
3. Short-term Provisions
Provision for Tax 68,000 70,000
68,000 70,000
4.  Fixed Assets
Machinery 3,84,000 2,15,000
Accumulated Depreciation (48,000) (23,000)
3,36,000 1,92,000

Additional Information :

(i)  Additional loan was taken on 1% July, 2016.

(i) Tax of ¥ 53,000 was paid during the year.

Prepare Cash Flow Statement.

(Frepea — 1)
(atfirenfor raTe)
OPTION - I1

Computerised Accounting

W< WS (Front End) ST 316g T o1 310 8 2

What is meant by the term ‘Front End’ database ?

37 JAfirehedent (fezTd) & fou S wn v w8 (MS Access) ST 39T id & Tie
foeE’” (Report Wizard) Teh 3Tehet 18- Fi & ?

Why is ‘Report Wizard’ a favourable tool for designers using MS Access ?
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T3 o1 & STfYTE 2 7 A% "Ry 0 § fohe YR fa 7 4

What is meant by composite attribute ? How is it different from simple attribute ?

Ut forgl IR STIgIhd1aTl 1 3ot HIfTT 58 SEheld SEE’ AT “Hel SIEE’ o i
farer fofer o & qd e | ST =R | 4

State any four requirements which should be considered before making an investing
decision to choose between ‘Desktop database’ or ‘Server database’.

qras faeiEl” (Password Security) G ‘ST dice’ (Data Vault) STsaT bl HHESY | 4

Explain the terms ‘Password Security’ and ‘Data Vault’.

T SEEAS 3 Teh 3w B8 Tapreft i areft 7efiA 3 4,35,000 B @Y | 32 I5=hT T
AT IiEe =51 < €9 § T 45,000 1 TAH FRAT | I8 AHA §T foh 5 991 < o7 § 39
wf =T = g3 4ed < 2,00,000 &, TH TH UFEel H Hidel 1 FANT Hid gL AR @
fafy & yoasE qun 5eh! gt i UM I | 6

Yamaha industries purchased an embossing machine for ¥ 4,35,000. They paid

% 45,000 as installation and transport expenses. Assuming that the salvage value of
machine at the end of 5 years is ¥ 2,00,000, calculate depreciation by Straight Line
Method & its Rate, using formulas in MS excel.
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